000.00 0000000OovVOooooDooooooo (,):VxV—-ROOOOOO
gboboboboboboboboboboooon

Va,b,c eV, Va € R,
(i) (a,b) = (b,a)
(ii) (a+b,c) = (a,c) + (b,c)

(i) (aa,b) = ala, b)

(iv) (@,a) >0000 (a,a)=0< a =00

gooooogd

oooooo a:<a1>DDDDDDD :D:<x1>
a2 T2

00000000000 a’e=aa+a2,00000000000000000000000000
000000000000006000000000000000000 c00000000000
00 {zeR|aTe=az +awy,=c}0000000000000000

{x|alx =0}

{x|aTx>O}

Y

{x]ax < 0}

06:00ae'2000000000000

a,zcR?°000 a"20 |al||z|lcosd 000000000 |lal,|z)00000 ae000000
000Db0O0ep0D00D00 aDb :c000D0OOODOOvO0OO

00000000000000000000000000000000000000000
00000000 ||a|:=vVeTaDOOO
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07 0000aeexcR?0000000000000 60

2.6 Cauchy-Schwarz 00 00O

O00.00Cauchy-Schwarz OO0 OO R*"O0O000O0O00000OOOCOOOOO0OO
oboboboobooobooboobooooo

ja’b] < |la]||lbll Va,beR"

000203 R*"O00000CU0O0O0OO0U0O0O0OO0OODOOUOOOODOOCauchy-
Schwarz OO OODOOOOOOODO

ja”b] < |la]||lbll Va,beR"

O00.000000000000000000 R*"O000000000C0CO0O00O0OO0OO0
goboobooobbooobooboonog

la +bl* + la — b]* = 2(|a|* + |[b]*), Va,beR"

[00 02-04) R*"O0OO0OODODOOOOOOOOOOOOOOOODOOODODODOODDOO
goo

la +bl* + la — b]* = 2(|a|* + |[b]*), Va,beR".

2.7 n0O0 EuclidO O

R*"O0n,00 EucidO0O OO R"O00 +0-00000000000000C000O0O0O0O0O0O0O
goboobooobooboboooobooobooboooboobooobooboobboooo

gooooo

e IO00D0DOOUOOOODODODODOD a,beR"=a+beR"0

e J00DDO0O00UDODDDODOD acR”, aeR= aacR"O

[Doooooo|

e ad’b000000000D0D00DDDOODOOOOOOOOO

e la|=VaTaDDOOOODDODOOOOOO
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a+b

U ogboboooooboaooodg

gbooooo

¢ a,bcR"ODDOODOD la-bl|=>r (e —b)20000R" 0000000000000
oooo

28 U0O0OOOoOOd

goo.ooo0 googoogo v,wiouoooooor-v—-woodoogooooo
obobobobob ooboooboooon

Ve,y e V,Va eR

(i) T(x+y) =T(x)+T(y)

(i) T(az) = oT(z)0
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ax+By

T(x)

T(y)
T(ox+By)

0o R'OOR"OODODOODOTO

Oo00.000 R*"O00CO0O

1 0 0
0 1 0
0 0

0 0 1

OR"O0O0O0O000O0ODOO

000.000 RPOOOR™O0000000000 ey,es,...,e,0 €,,€),...,e, 000
00000000 T:R"—R™"0000O

m
T(ei) = Zajie; (’L = 1,2, PN ,n)
J=1

0000 AeR™"00000T(x) =Az, z€R"O000000000O00O0O0 Ac€
R™"O00000000T(x)=A2z, xeR"00000000O0
OUO00OR"OOR"OO0O0O0O0OOR™" 000000000000 OOOOOOOOOO

000.000 A=(a1 a2 - a,) ER™"000 rankAT 0 <7 <min{m,n} 0000
odo0ooooooooooooooao

(i) a1,a2,...,a, 00 r 00000000000 ODOOOOOOOO

(ii) ai,a2,...,a, 0000 r+1000000000000000ODOO

oooA0OOO0OO0O0OO0OOODOOODOO 000000000
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[0 O 02-05] a1,a2,...,a, e R"O000
(i) a1,a9,...,a, 0000000000000 OOOOO

(i) 000000 " aw; =a, 00000000000000000ay,as,...,a, 0
000000000000000000000000000000000000000

3 ooobbboboooobbooooobbboboogoa

n00000»nO0000000000O0000O0000O000O00O0000bO00b0000no0

3.1 OOoogogoo

a1 + apr: + -+ apxr, = b
a1 + axre + -+ + aspx, = by

(3)
aAm1T1 + amar2 + -+ QmaTn = bm

0000ay,bieR(G=1,2,...,m, j=1,2,...,n)0000xz;€eR(j=1,2,...,n) 0000000

3.2 ODOOOodbobooOod

0000 AeR™"0000000beR™IO0DDO0OO zeR™O

a1 a2 -+ Qip b1 x1

a1 a2 -+ Gon bo T2
A= , b= , T=

aAml Am2 - Amn bm T

O000000ooooooo (3)0
Ax =0

000000000000 00xzeR"0 ADODODOODODODDOODOOOOOOOObDeR™OO
gboboboboboob

3.3 ODuooobood

O00A=(ai1a2 ... a,) eRM"O00D000000O0O0OO0OO0ODOOOOOOO (3)0

n
E CL.j{L‘j =b
Jj=1

Oo000beR"OmOODDOODOOnOOOO0OO0OOODOCODOOOOO
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3.4 0O0OUOO4OoOobOO

af.
a3,
00000 A= |
al.
oooo
0ooo

0 10: 00o0oboobooooboobobon

v

U1l 0b0ooobooboobooboooon

eR™T"O000000DO0OUOOODOOUODOO (3)0

X, ={xcR" |alz=0b) i=12,...,m
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0000000000000 (3)00o

googd

‘‘‘‘‘‘
|||||||
||||||
.......
‘‘‘‘‘‘
‘‘‘‘‘‘

X={x | a x=b}

U012 0000000000000000

DD 0301000000

T +x9 = 4

—x1 + 210 =

goobobobooooobobboooobbobbooooobooboboooobboooooboog
ooo

(000302 000000

anrr + apre + -+ apmr, = b
a21x1 + a22x9 + -+ aAonLn = bg
am1T1 + @maT2 + 0 4 AT, = by

00000000000 0000000000O000000000000000000
0000000000000000a; €eROb;eRO000000z; eROOOOOOD
(i=1,2,....m; j=1,2,...,n)0
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